1. Using the following mRNA sequence:
5'–ACAAUCCUGCAUGCCGAUGCGAGCCGAAUAAGCACGUGUU–3'
complete the following: 

a. Indicate the start codon. 

b. Indicate the stop codon. 

c. Give the proper sequence of amino acids if this sequence was translated.

2. For each of the following, give a brief description: 

a. initiation complex 

b. Shine-Delgarno sequence 

c. activation and charging of an amino acid 

d. translocation 

e. peptidyltransferase 
3. Describe what is meant by the degeneracy of the genetic code, and how this is dealt with in the cell. Include in your answer isoaccepting tRNAs and the wooble hypothesis.
a. Describe in detail the molecular mechanisms involved in termination of translation. 

b. What is the proposed mechanism of action of some antibiotics? Give an example.
4. Describe the following: 

a. What is meant by the “almost universal genetic code”? 

b. How do we know that there is no punctuation in the genetic code? 

c. How can we predict the number of genes in an organism’s genome? 

d. What is meant by the C-value paradox? 

